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This is the same as the case of NaN "7 X502 — R2aN 9297 NO01 119957

OVERVIEW

The X713 told of a case where the 2111 brought only one 7V to testify that he made
a 071w '3 nptn. The 1127 who were there assumed that this case parallels that of X301
X"37, where the ruling is a%wn yawsh 9120 XY TN, here too the p°in is not
believed and is liable (to pay) The X723 was not explicit whether we are discussing
the obligation to pay for the m» that he ate (for three years!),' or whether we are
discussing the obligation to return the field to the qyayn. Our MdOIN clarifies this.

— DY DIV 1Y PRY INNR ¥PIPN PINNY ROIWIT IND ¥YDIPN XY
This comparison to X"77 X201 was not in reference to the land, for it is obvious
that he returns the land to the 7v7yn even without the comparison to X"7 X203,

since he does not have two witnesses that he ate 7 1w -
— P01 Y9N ) NNYN NOHN

But rather even now the 7127 were discussing only that the 999 need to be returned

(on account of the ruling by X"97 X203) -
— DANY M990 DY SNNRP 721N1Y SIIND RTHD 11 1PN RNOWH 920)

And the 7127 presently assumed that it is considered as if the single T¥ is

testifying against the »>1n» regarding the stolen n1932 which he ate -
—MNYON NI N12D) 91957 9199 99°N)

So that the 112 cannot deny and claim, ‘I did not eat the m™»’ since the X"y

contradicts him -
—INYIN NY 959N 9199 ONX /90 Yy NV 12NY XA 1IN

And it should be considered as if the X"Y is coming to obligate the 111 to swear
regarding the n19°s, should he deny and claim, ‘I did not eat them’ —

mooIn anticipates a difficulty with this line of reasoning:
— 02V ’) NA PNV TIYNY 29 JY 9N)

And even though this X"V is testifying on behalf of the P11, that he made a 7P

in this field for three years, so how can it be considered as if the X"V is testifying against the
P 1 and is seeking to obligate him to swear, when in fact he is testifying on behalf of the p>rmn

"It would seem difficult to assume that we are discussing the payment of the 15 for three years. If we assume that
he ate M17°o for three years then he is a p1mn (as he claims) and not only is he not obligated to pay for the N7 but
he should receive the ypp as well since he is a p1mn (see end of *X1 71"7 '01n0 on this 7T1%Y). See footnote # 3.
* See previous footnote # 1. Regarding vpap at least the ruling would be correct that the ¥pp reverts back to the
vy (even though it may be R wd), as opposed to 70 where the ruling is (seemingly) incorrect.
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that the field is his for he made a proper npin?!

mooin replies; nevertheless -
— 21799 121N AN 1Y YUY NIN APIND DY TO¥N 1IN IDIND 91 9IY 9NN PPNRT 1125

Since there is no other witness with this X"Y to support this 7pm1 claim, it is
considered as if the X"V is not testifying on the 1P to support the p°in, but
rather he becomes a prosecuting R'"'Y to demand payment for the ny9s.

— NAN %3979 527 9T 9%aN “9NRT 1y A0 NPT XPYD %91
This was the initial thought of the 1127, until 2R told [them] that this case is

not similar to the case of X'""%7 Xo01 -
—15Y $PPN DAY PN XIN 29NY MY 12 *¥095Y 192 SNNRP SWPDY RTAD 1H NINT

For here the X"y comes to assist the P*1n both regarding the ypap as well as
the N9, for the X"V is testifying that even the ¥p9p belongs to the poinn.

mooIN anticipates a difficulty regarding what he said in the beginning that (even) in the 7"0 the
discussion revolved around the N0 [exclusively]:
— 595991 193V 1PNINY RTND THY NN 92979 X907 IN NIN NIPDNI 1929NT XD

And regarding that which »2X stated in the conclusion of this X210, ‘however,
the case of R'"1 is comparable to a case regarding >2° where an X'y testified that

the P>11n ate the M17°0 for two years’ (not three years as in our case) -
— 59593 NUN Y9N NY 333 NIWUA 197 1193 9999 0P1RY 7598 1Y Y

There was no need for >2X to mention '>932Y', since even up to this X1po» (in the
7"0) we were only discussing 599 and not ¥, so why mention >1°5?!

mooIn responds:
2999991 "RTND TMY 523 VP IV PHIN IR NN
Rather we must say that since he needed to mention two years (as opposed to

? A possible explanation (see footnote # 1) may be as follows. The P> claims that he bought the field (and lost the
qvw). Had there been two 0’7y that he was in the field for three years we would believe him that he bought the field.
The fact that he does not have two 2>7¥ (and no 7vw) indicates that he did not buy the field at all. Once we make that
assumption then it would be similar to case where the p>1min does not claim that he bought the field but admits to
eating the m17°o for three years, where he would have to pay for all three years (because it is 7IV0 1Ay PRW 7).
Similarly here we disregard the claim of °127 71 and consider it as if the 7¥ is only testifying that he ate the n17°5 of
three years 7132. See >"27 12y and 77 nX 271
* The 1271 N3 amends this to reads »2x 379 K.
> See footnote # 3. »ax argues that we cannot consider the 7v as only testifying on the M, for he is testifying to
support the p>11in that the ypap is his. If we believe him regarding M0, we believe him regarding the yp7p.
® The n"a7 M amends this to read *277 (deleting the "").
7 mpoIn mentions X770 771 in the reply (even though he did not ask about X770 7r) to point out that things can be
restated even though they applied in the first case as well.
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three), he also mentioned one 7¥ and 59°2 (even though X"y and >’ are the same as in
the previous case).

SUMMARY
The comparison to X"77 X201 (even in the 7"0) was only regarding the 5.

THINKING IT OVER
Can we perhaps distinguish between the reference to °7°0 that the 7127 were
discussing, and the reference to >0 that »2X mentions?®

8 See MW 013 on the R,77 XA
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